Residual Diagnostics

Residuals vs Fitted Normal Q-Q

[2)
S
>
1000 o o 0% = - go 920
0 O
s 500 = -
& -500 — S 4o
-1000 — g
& 2 ownw OOO‘W
| | | | B | | | | |
450000 500000 550000 600000 -2 -1 0 1 2
Fitted values Theoretical Quantiles
z Scale—Location ® Residuals vs Leverage
S 1.5 - o 6 58320 S
- o 9 %o 550 P8R0 e o S 24
E (&) 1 —
1.0 H =
5 ® ?® 04 °©
5 oo @ > °e S
§ 00T sy 5 S T o o .
2 R (%g 2 2 o --- @FBgRtance 8
S 0.0 - ° 5
2 T | | | B | | | |
450000 500000 550000 600000 0.00 0.02 0.04 0.06

Fitted values Leverage



